SW
SR B REO0° HANSAVFLEX

L}
BO1+2 KSR B
ERER1+2 24°M%

gigxes fEEs iRt 4%
garX AE0°
LY DIN 2353

1ISO 8434-1
gl | YRR AR NEE
R$ M
RERP BERE
iy
BRRE, FA, EXAFEANATNIEREN LA BEESATREEENBERES.
&
SW 16 LL LL PN 315 16 M22x15 27 16 49 33,0 40 23,0 24 19 27 27
SW NW 04 HL L PN 315 6 M12x1.5 17 16 42 27,0 27 12,0 14 12 17 14
SW NW 06 HL L PN 315 8 M14x15 19 16 42 27,0 29 14,0 17 12 19 17
SW NW 08 HL L PN 315 10 M16x1.5 22 16 43 28,0 30 15,0 18 14 22 19
SW NW 10 HL L PN 315 12 M18x1.5 24 16 44 29,0 32 17,0 20 17 24 22
SW NW 13 HL L PN 315 15 M22x15 27 16 46 31,0 36 21,0 23 19 30 27
SW NW 16 HL L PN 315 18 M26x15 32 16 49 32,5 40 23,5 24 24 36 32
SW NW 20 HL L PN 160 22 M30x2 36 16 51 34,5 44 27,5 30 27 41 36
SW NW 25 HL L PN 160 28 M 36 x 2 42 16 52 35,5 47 30,5 34 36 46 M
SW NW 32 HL L PN 160 35 M45x 2 50 16 58 36,5 56 34,5 39 41 55 50
SW NW 40 HL L PN 160 42 M52 x2 60 16 59 36,0 63 40,0 43 50 65 60
SWNWO3HS S PN 630 6 M14x15 19 16 44 29,0 31 16,0 17 12 19 17
SWNWO04HS S PN 630 8 M16x1.5 22 16 44 29,0 32 17,0 18 14 22 19
SWNWO6HS S PN 630 10 M18x15 24 16 46 29,5 34 17,5 20 17 24 22
SWNWO08HS S PN 630 12 M20x1.5 27 16 47 30,5 38 21,5 21 17 271 24
SWNW10HS S PN 630 14 M22x15 27 16 50 32,0 40 22,0 23 19 30 27
SWNW13HS S PN 400 16 M24x15 30 16 50 31,5 43 24,5 24 24 32 30
SWNW16HS S PN 400 20 M30x2 36 16 55 33,5 48 26,5 30 27 41 36
SWNW20HS S PN 400 25 M 36 x 2 42 16 59 35,0 54 30,0 34 36 46 46
SWNW25HS S PN 400 30 M42x 2 50 16 64 37,5 62 35,5 39 41 50 50
SWNW32HS S PN 315 38 M52x2 60 16 68 37,0 72 41,0 43 50 65 60
HRRFLL=FER =B S=E - PN=FEEN PB=HAIEEN - 0d2=ENER
FRES

SW MG [BEIRMIER AE0°, #1F
SWVA [REIRRERE AE0°, THHN
XSW B A4S IRIERE, AE0°, W

RERT 7 RAFF BRI ETLHEBRK £ 1RAY ATBE 3T AT R A915 B B #E K 2\ | T AR FH Ao
15.07.2025 HANSA-FLEX AG www.hansa-flex.com 1



